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WORKSHEET Heat and Calorimetry

Define: gnergy, work, potential energy, kinetic energy.

What type of reactior absorbs heat?

In what type of reaction do the producis have less pute*nt:al anergy thaan the reactants?
Define: temperature, heat, ioule, calorie, Eaeglﬁc_!_.estt

What is the specific heat of water? How many jou es equal one calotie?

What is the relationship between calories and the Calories used to measure food energy?

A 10.0 g object loses 52.0 J of heat as its temperature goes from 27.0 °C‘ to 18,0 °C.
What is the object’s spexific heat? 5y I

8. How much haat would be needed to raise the temparature of a 25.0 g plere of iron
' from 20.0 °C to 100. °C? (, iron = 449 1/g°C). : cqy T
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9. A reaction takes place In & calorimeter containing 250, g of \iivétrar at 20.0 *C, The temperature of the
water drops 1o 18.0 °C. Calculate the heat gwen off or abs .osbed by the reaction.
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10. A 12.0 g plece.of metal with a temperature of 100, °C is plas.ed in a calorimeter huldlng 200, g of water
at 20.0 °C. The temperature of the water rises to 22.0 °C. -
What is the specific heet of the metal? .1 Lo 79 J/go L
!
11. 7.50 grams of a substance absorbs 44.2 Joules of heat as its l:empe:n ature rises fram 10.0 °C to 20 0 °C.
What is the substance's Yy, ad
specific heat? 59 ‘? ‘J/ ’C
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12. Lead has a specific heal: of 0.128 1/g°C. How much heat would a 150 0 g piece of lead give off as its

temperature drops from 85.0 °C

t050.0 °C? (sog)(1a8 Y Y(s0-85%¢) < (472 T 7]

13. A chemical reaction takas pIace lnsidna a calorimeter which contains 50.0 grams of water. The
temperature of the waber rises from 21.0 °C g 23.0 °C. CEI eat glven off by the reaction.
heat = ~ (§04) Li.tm( avc) =HIg T
14. A 10.0 gram plece of metal is heated to 100.°C. It is pl.aced m orimeter containing 75. 0 grams of
* water at 25.0 °C, The final temperature of the metal and water is 27,0 °C. What : of

" the metal? C‘O‘})C (9-7 _.”M) i (’75? ('—I l?‘fygj as) -

15. Aiurninum has a specific heat of 0.902 J/g"t‘: How much heat is neecfed to increase e temperatu e of
a70.0 g piece of lead! from 25.0 °C to 150.0 °C? ( 70%)( 102 /1'6)( 150 ;15) 2§42 3,

- 16. A chemml reaction takes place msidn. a ca{onmetq_r which contains 50.0 grams of water, The

temperature of the waznr goes from 24.0 °C to 21. e the heat of reaction.
~ (504) ‘-IIQ"I)F 3) = 4 L2393
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i7. An 3.0 gram piece of metal Is heated to 109.°C. calorimeter containing $0.0 grams of

water at 23.0 °C. The final temperature of the metal dﬂd water is 27.0 °C. What Is the specific heat of
‘____,/"'_‘KL

the metal? g
(s'?)a(n lw) = - [auﬁ)(q.m}(ﬂﬂﬂ) LM




